
1 
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jsTUf;fis 02 Mf gpupf;fyhk;. 

 %ba jsTU 

 jpwe;j jsTU 
 

 %ba jsTU 

 

 

 

 

 

 jpwe;j jsTU 

 

 

 

 

 

ePsq;fis msg;gjw;F gad;gLk; myFfs;. 

 

 

 

 

myFfSf;F ,ilapyhd njhlu;fs; rpy. 

 

 

 

Rw;wsT: 

ahjhapDk; %ba jsTU xd;wpd; Rw;wp ,Uf;fpd;w ePsq;fspd; $l;Lj;njhif Rw;wsT vdg;gLk;. 
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khfhz fy;tpj; jpizf;fsk; - rg;ufKt khfhzk; 
juk; - 10 ghlk; - fzpjk; thuk; - 1 

Mf;fk; -gh. Nahfuh[; 

mm  - kpy;ypkPw;wu; 

cm  - nrd;wpkPw;wu; 

m   - kPw;wu; 

km  - fpNyhkPw;wu; 

10 mm  = 1 cm 

100 cm = 1 m 

1000 m = 1 km 



2 
Nf/nj`p/ru];tjp jkpo; kfh tpj;jpahyak;      gh. Nahfuh[;  

 

 

 

 

 

 

 

 10 cm 

 

                                10 cm 

nrt;tfj;jpd; Rw;wsT   = 2 (ePsk; + mfyk; ) 

     =  2 (12cm  + 8 cm) 

     =  2 x 20 cm 

     = 40 cm 

Kiw - 2 

nrt;tfj;jpd; Rw;wsT   = ePsk; + mfyk; + ePsk; + mfyk; 

     =  12cm  + 8 cm + 12cm + 8 cm 

     = 40 cm 

 

 

 

 

 

nrt;tfj;jpd; Rw;wsT   = 8.5 cm + 6.5 cm + 8.5 cm + 6.5 cm 

    = 30 cm 

nrt;tfj;jpd; Rw;wsT   = 2 (ePsk; + mfyk;) 

    = 2 (8.5cm + 6.5 cm) 

    = 2 x 15 cm 

    = 30 cm 

 

nrt;tfj;jpd; Rw;wsT 

nrt;tfj;jpd; Rw;wsT  = ePsk; + mfyk; + ePsk; + mfyk; 

   = 2 ePsk; + 2 mfyk; 

   = 2 (ePsk; + mfyk; ) 

8.5 cm  

6.5 cm  

8.5 cm  

6.5 cm  
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nrt;tfj;jpd; Rw;wsT  60cm ePsk; 20 cm  vdpd; mfyk; ahJ? 

mfyk;    vd;f. 

 

 

 

 

nrt;tfj;jpd; Rw;wsT   = 20cm + x 20cm + x = 60cm 

    = 40cm + 2x  = 60 cm 

        2x  = 60 - 40 

         2x   = 20 

          x   = 
  

 
 

          x  = 10 cm 

mfyk; 10 cm MFk;. 

 

rJuj;jpd; Rw;wsT. 

 

 

 

 

rJuj;jpd; Rw;wsT  = ePsk; + ePsk; + ePsk; + ePsk;  

   = 4 x ePsk;  

   = xU gf;f ePsk; x 4  

 

 

 

 

  

 

20 cm  

x  

20 cm  

x 

ePsk; 

20cm 

rJuj;jpd; Rw;wsT  = 20cm +  20cm + 20cm + 20cm  

   =  80 cm 

rJuj;jpd; Rw;wsT = xU gf;f ePsk; x 4 

   = 20cm x 4 

   = 80 cm  
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rJuj;jpd; Rw;wsT 100 cm vdpd; gf;f ePsk; ahJ? 

 

 

 

 

 

rJuj;jpd; Rw;wsT =  100 cm  

  4a =  100 cm 

  a = 
   

 
 

  a = 25 cm 

xU gf;f ePsk; 25cm MFk;. 

 

 

Kf;Nfhzj;jpd; Rw;wsT. 

 

=  a + b + c 

 

 

 

Kf;Nfhzpapd; Rw;wsT = %d;W gf;fq;fspd; $l;Lj;njhif. 

 

 

 

   Kf;Nfhzpapd; Rw;wsT = %d;W gf;fq;fspd; $l;Lj;njhif. 

     = 12 cm + 8 cm + 6 cm 

   = 26 cm 

a 

a 

a 

a 

b 
a 

c 

6cm 

12cm 

3cm 
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tl;lj;jpd; Rw;wsT. 

 

 

 

 

 

C  = 2       Miu 
 = 2      

 = 2    
 

C  =           tl;lj;jpd; Rw;wsTf;fhd #j;jpuk; 
 =       

 =     

 

 

1.7 cm MiuAila tl;lj;jpd; Rw;wsitf; fhz;f. 

  tl;lj;jpd; Rw;wsT = 2    

    C = 2 x 
  

 
        

    C = 44 cm 

     

tpl;lk; (d)= 21 cm vd jug;gLk; NghJ c =    vd;w rkd;ghl;ilf; nfhz;L tl;lj;jpd; 
Rw;wsitf; fhz;f. 

    C  =       

    C = 2 x 
  

 
         

    C = 22 x 3 cm 

    C = 66 cm 

gapw;rp  : juk; 10 ghl Gj;jfj;jpYs;s kPl;ly; gapw;rpapid gapw;rp Gj;jfj;jpy;   
      gpujp nra;J Rw;wsT fhz;f. 

gupjp 

Miu (r) 

tpl;lk;   = 2 x Miu 

 d  = 2 x r 
 d  = 2r 

r 

d 

1 

1 

7 cm 

3 

1 
21 cm 


